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337 Gold and water

A 10.0kg piece of gold is initially at 100° C. It is immersed in 1.00kg of water which is
initially at 20.0° C. The aim of this exercise is to determine temperature, T of the gold and

water after they have reached equilibrium. The heat capacity of gold is 129J /kg K and that
of water is 4190 J/kg K. (111F2023)

a) Determine an expression for the heat lost by the gold in terms of Ty and the data
provided.

b) Determine an expression for the heat gained by the water in terms of 1Ty and the data
provided.

c¢) Combine your expressions to determine the equilibrium temperature Ty.
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